Efficiency vs P,

= 0.4
o
2 0.09
>
20.08
o
0.07
0.06
0.05
0.04
0.03
0.02
0.01

e

o J..\.G
B
o
1
0.95— : '2 .
10° 1 10
0. (Ge?
T
—=— DQM_mKFIt_T1orignal
—e— DOM_mkFit_TTNEWnoMS-genMatch-CUT2
—— DQM_mkFit_TToriginal-106
—— DOM_mkFit TTNEWMS-genMatch-CUT2
=0.05

[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015
0.0
0.005
Vel

..............................

=
S

Ratio

[y

o

©

o
wlllllllllllll
I

N

= . . .
o

=)

N

w

Efficiency vs ¢

o0.02[

¢ orcll N
D018y T
O s " . .
®.016f - oot
o : : : :
£.014ff-- B TR S
o H <+ : . :
0.012f I 1 I
0.01f AT
0.008f}
0.006FFH-H - : j
0 004;" EE 4 -“-H'é- S RN L '“'..-u-g
0.002F H-- 7 foee i
oF | L i | |
o +W :
g :
@ :
1 B - 4-4:4 -4
0.950 = ) b L 5 -




	Contents
	Page 1


